H & 0l & AHS B Ml A

S BADSYE
Ha: OIS JI8r2s

Chel: BMWSHHSE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
BYSHH 5,361,112 5,154,914 206,198
= 41,334
= 5,319,778
eisd Jlgt4st 457,025 221,960 235,065
B usHHZ2E 457,025 221,960 235,065
BUuSHEH2E 20,000 63,860 A\43,860
201 =3 4,000 6,200 A2,200
01 At22t2l] 4,000 4,000 0
=QMHuSAE Sl
8,0002+x6& »100! 4,000
202 04l 12,000 12,000
01 =LHN LI 12,000 12,000
cQMHuUFAE 2=
20,0002 x5EH %100 10,000
oHLAEH0HI 80,0003 x5 +5& 2,000
203 =] 4,000 4,000
03 A=A =] 4,000 4,000
o RN
1,000,000 x4= 7| 4,000
ANEZE =Al2 262,925 262,925
101 @124H| 6,885 6,885
MU IIRINZZE2NSES 6,885 6,885
cEdae|, AEE B S(HH, =012
) 163,6713 x4 x10& 6,147
o4l 2= 6, 147,0002 *12% 738
201 Ler23 | 173,040 173,040
01 At2t2ltl 91,900 91,900
oAl otE2AREHA (L)
750,000& 122 9,000
oAl ZEFY, ASIIs HE (L)
4,000,000 22 8,000
oM ot el = A (20H4)
1,000,000& «12& 12,000
o HEAZ HI| QtHAUCIES
200,000 * 122 2,400
o5Y)| RS A (B A)
1,050,0002 122 12,600
oZHE SUAIE QHEAA
25,000,000 * 14! 25,000
o&J|, JIAEH B4
10,000,000 » 14 10,000
oHAALF(4H2L) 1,000,000 *62] 6,000
oS8T HA () 3,000,000& *23] 6,000
SIA(DAZEN, NEZQ) ANMTH =
== 300,000 *3CH 900
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DA HMDSME
33 sy Jletdet
Chel: BMWSHHSE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 S5=g4l 81,140 0 81,140
o=, BEF S A= A&
5,000,000& 62 30,000
o&II, JIH, A4l |2t
5,000,000& 72 35,000
oduyI| S A=HI
1,400 *10,0002| E4 14,000
o&d 2eJH A2
1,600& 2002 &4 320
oFSE HA(1HA) 16,0003 *70& 1,120
oAal, ?IEE S €3l
700,000 *14] 700
206 MH=HI 4,000 4,000
01 MHZH| 4,000 4,000
odF, EF S M
500,000 42| 2,000
o&J|, &8, JIAHEH] 2|
500,000 42| 2,000
401 AIEHIZ SR 0HYI 79,000 79,000
01 Al&HI 79,000 79,000
od=, EF] S NEE 2=
10,000,000& *23] 20,000
oI, JIA AN S 2+
10,000, 000& »23] 20,000
o2stlssl2 Il MBS
5,000,000& 22 10,000
o3z, SYTH2 AFS 2AclY
2184 6,000,000& *12] 6,000
SN (ML) HES AHHEY
3,000,000 * 10 2= 3,000
oxds dME 2 M= S g32A2(HAH, =
Ol M2t 10,000,000& »23] 20,000
gdu= gdst 69,100 58,100 11,000
201 Ler23 | 24,100 18,100 6,000
01 At22t2lt] 24,100 18,100 6,000
CBMDS D20y 2N ¥ 257Y
500,000 * 123 6,000
CHMDSEOS AALY
70,0003 * 10232 2,100
cgUYUE 2= MH
4,000,000 * 14 4,000
oHMigel M=BdsiguEs 82 - HEg2
23 5,000,000& *14] 5,000
CNSYNEOS HALY
70,0003 20 #5652 7,000
307 @I2t01 & 45,000 40,000 5,000
02 LB AANHEE 45,000 40,000 5,000
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2A:

TM DS M

33 sy Jletdet
Chel: BMWSHHSE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oo BMES T2 A
5,000,000 79K 2= 35,000
o4 WML Sok2| N
1,000,0002 %1000 A 10,000
del2o =S A 105,000 100,000 5,000
201 2= 9,000 4,000 5,000
01 At22t2lt] 9,000 4,000 5,000
oHOISHILS DI ¥ 2ETY
30,0002 200 6,000
CHOISHDE AEHE
3,000,000& %14 3,000
301 EtE NS 96,000 96,000
14 0Bt 2a3 96,000 96,000
CHSHLE LML
60, 000& *200H 2 +40==+23] 96,000
WEZHALS} 3,137,033 3,442,970 A306,937
= 41,334
o 3,095,699
w=J|2 X2 A 374,329 393,268 18,939
s 41,334
s 332,99%
SHEXNS 2 2ZA XAI3AHS 137,780 138,570 AT
[ 41,334
Ea 96,446
308 XtXIEMSO0IE 137,780 138,570 AT0
= 41,334
= 96,446
08 WSEJ| 2022 137,780 138,570 AT
osENY AL JOHEX WA
137,780,000 137,780
= 41,334
o 96,446
nsSstu s X 236,549 254,698 18,149
308 AFAIEHMSOIE 236,549 254,698 18,149
09 Al- = -7 WSHISEH HEHES 236,549 254,698 A18,149
oSSt fHuF X3
236,549,000 236,549
ellisd 24 2,762,704 3,049,702 286,998
Fdgy¥ss 29 2,592,304 3,049,702 A457,398
306 £= 2,592,304 3,049,702 A457,398
01 2d= 2,592,304 3,049,702 A457,398
oY¥4ddsle Eds
2,592,304,000& * 14 2,592,304
SIS Ysr=ols N2 170,400 0 170,400
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2A:

oA DS ME]

B DEAMAU
el 2Ed 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 170,400 170,400
14 IIEt2 83 170,400 170,400
oxEUSs Yst=cts A
170,400,000& 170,400
gdstsHA = 337,642 321,565 16,077
gdsigs =d 205,802 190,805 14,997
21HI91 ZEO0HHI0I 196,002 181,005 14,997
201 el 37,402 22,405 14,997
01 At2t2ltl 32,902 17,906 14,997
=21M1D1 2400 28 MA
10,0002 %1,500% 15,000
S21MII1 Edotuol 29 14,702
S0 HE 62,0002 21 x243] 2,976
o o E22 2458 S5 NA
2503 +8,0000H 2,000
ol E2UA RIE M
120,000 »243] 2,880
-2AL EAFE 18,0002 24 & +32 1,29
-29 =5 2/dote 7Y
250,000 x2H 500
-S40l 2t A
2503 *1,000H 250
ANFRES S 23 7
20,0008 x65+302] 3,600
=&l 8,0003 38 +50! 1,200
=21M101 &d0HHI0I Az 29 3,200
-HALE Ed0lE S
200,000 x4 *43] 3,200
02 S3=gHl 4,500 4,500 0
odE Y SE= &€5R=
500 *55021 %123 3,300
o2HIY Sl JtE g2 A
2002 *1,500& *42] 1,200
202 04l 1,600 1,600
01 =LHAHI 1,600 1,600
=21MI01 Zd0tail 22 =&
20,0003 x2& 40! 1,600
306 E¢= 7,000 7,000
01 £g= 7,000 7,000
ocHHYEG EAHS (LAY ¥ HEL &
OHCHS) 7,000,000& *12] 7,000
307 glztol & 150,000 150,000
05 2IMRIE =3 150,000 150,000
S21MID1 HE0PHOI0l 2 (2212l Hall
) 6.,250,000& x243] 150,000
dgisteg 29 9,800 9,800 0
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2A:

oA DS ME]

g 2slls A8
telr 2stilsz2 29 2l (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
101 @124H| 21,130 11,499 9,631
M ORINZZE2NSES 21,130 11,49 9,631
oZE EX(0HE L ol 8) o™
76,9603 x7 & »293] 15,623
o2stszl2 20 B 2=
150,000 x3&* 10! 4,500
cAUEEE 20,122,880 +5% 1,007
201 er23| 368,208 258,112 110,096
01 At2t2ltl 54,868 47,812 7,056
o3z 28 225 7Y
400,0002 %105 4,000
S E2XUAIX AEZ2(SAHOI0N, AHUHS)
443+2,0008 %293] 2,552
oZAMS II=ID| =8
8,000&~12& %
o822 MA(3d, I3t8) 41,500
-M e X1 (Ad) 2003 »2,00004* 173 6,800
-ZAH((2E) 6,000 +5001 293 8,700
=t 55,0003 » 1404 2=x302] 23,100
“EEE 100, 000& *1JH A +292] 2,900
o=tz SEE Y
1,000,000 *32] 3,000
oRYRFA SEHI
8,000 +x3& » 155! 3,720
2 352484l 13,340 10,700 2,640
ogt=EZ30l=22HE 2|
5,000,000& 12 5,000
oA (SE,2Y,20) a3l
300,000 %12 300
oZHAld =Xl2 450,000& <123 5,400
oSHUMHELAIAE AIZS
220,000 122 2,640
03 A= SHI 300,000 199,600 100,400
ol(A)sHE 230z J1& 3¢ 252,000
- 22,000,000& *73] 154,000
—aSHE 14,000,000& *73] 98,000
odgtad 4,000,000& * 122 48,000
202 04| 3,600 13,360 29,760
01 =LHA LI 3,600 13,360 N9,760
o29YR = 20,0002 3% <60 3,600
206 MH=H| 31,400 31,400
01 M=4l 31,400 31,400
oZHAE ARE FY
350,000 *205+43] 28,000
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2A:

oA DS ME]

g 2slls A8
ol 23tisda 29 2 EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oZ & 0t013 JHolE Y
50,0002 x45+10H 2,000
oZOIY TRME YT g
700,000 +2K 1,400
301 22N = 32,400 27,360 5,040
14 JIEt2 8= 32,400 27,360 5,040
o2sls 23 LAY
45,0002 #4224 Tx2A| 222 #4655 32,400
405 AHatE = 49,000 49,000
01 ML ESFSHI 49,000 49,000
x| - SIS BH L 2
7,000,000 75 49,000
ShEd gd== 2alsTAtY 42,000 42,000 0
201 fet=3| 42,000 42,000
03 A= 42,000 42,000
o202 K& MY R+3H
14,000,000 x32] 42,000
SSEAE =E & 29 731,413 640,860 90,553
SYEME 2 2 534,319 402,410 131,909
AT & 2 281,788 217,249 64,539
101 212A4H| 17,412 15,544 1,868
04 JIZtN2 2N S 2+ 17,412 15,544 1,868
o2 TAEC FY
76,9602 x2H*101& 15,546
o428 = 15,546,0002 *12% 1,866
201 Ler23| 85,776 78,705 7,07
01 At2teltl 67,276 74,685 AT,409
odJ|ItdE 2 25,0002 x105+ 122 3,000
SHEA=E 4,800
-S4 20,0002 x105+ 122 2,400
NN 10,0003 x205+ 123 2,400
oRRIIE USES 300,000 52 1,500
oFMEN=EL S EE=MH
2,000& 1,5000H 3,000
o= MH0ISCH AtIZSXIE
5,000,000 * 14 5,000
oA RN SEH
8,000 x5 »60 2,400
oAtz B 2= 1,200& 6,000 7,200
o=Me g, DA WAL S
5,000,000& 22 10,000
oltAE MJ| S E23tud Z2UE M
5,000,000& 12l 5,000
o=8E =3 ¥ 200,0002 % 10H 2,000
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FA HYUSHE
Y ZTZCNT BE YL 29
ol SN 2 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SORt Qe 2% B8
1,947,950« 123 23,376
02 S3=gHl 18,500 4,020 14,480
oZHIEMHIA OIES 300,000 * 12 3,600
o A2t ol 300,000 304 A 900
o UAMT ERHHAHIA 10,000& +2002] 2,000
cEHRYUE gEs o8
1,000,000& * 12& 12,000
202 048l 7,500 7,500
01 2L AH| 7,500 7,500
o N&AYF = 20,0003 »5& 752 7,500
301 22N = 2,000 1,000 1,000
14 JIEt2 8= 2,000 1,000 1,000
o A2cIE AHIEd
20,0003 x28 50 2,000
405 AHaHE = 169,100 108,500 60,600
01 ML ESFSHI 66,600 10,000 56,600
o A2 Wte)| 29,000,000& * 14 29,000
oAl EHEXIDI 15,600,000 x 14 15,600
o MFHE JI2AT AIAE
16,500,000 * 14| 16,500
SE=PIE=ESP 1,500,000 *2CH 3,000
o AEE SEE 500,000 +5CH 2,500
02 ==l 102,500 98,500 4,000
oM7Y 15,0003 5,500 82,500
=30, DD, HAHH, QULSE S
50,000 4005 20,000
S AAE 22 119,050 87,139 31,911
201 er23 | 85,430 87,139 A1,709
01 At2teltl 3,300 2,361 939
SHOIH®SE HIOIZ 7
60,0002 *20H 1,200
c0ISHE SN (ML S)
70,00024x300H 2,100
° ZZ2H| 8,130 84,778 ~2,648
CTUTAHB =B E43M 0|22
1,006,400& «12& 12,077
SMH, SOITH SHEIH
600,330 x22| &+ 123 14,408
CRBUTHT YR SMEM
61,6002 x32] &4+ 122 2,218
oZHI0IXl 21200 E! AMHIA 0122
550,000 550
oIty =&l MHlA 018=
66,0003 * 12 792
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£A: HBMINFHH
Y ZTZCNT BE YL 29
el SYEAS 2 2 (St &)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
o MALAH|] RAXIH] 50,000& *5&*63] 1,500
oA HERA HH| SAE%
40,000, 000& *P% 3,600
o T AME MAAAE SXE4
85,900, 000& *&% 6,872
OBHAAIAE L HERT PC RAE4
52,220,000 *&% 4,178
oA ZLIAAE S22
72,898,200& x11% 8,019
optH, BOITAZ XISSHAIAE SXE4
132,600,000 *7% 9,282
oFUT A ISSAAE SAE
133,080, 000& *7% 9,316
oD T A SHOIX RALES
18,200,000 *15% 2,730
o T A ALSH A2
24,500,000 *10% 2,450
oZETAMZ EHOIX MH |24
16,300,000 *10% 1,630
oIHCIEE BEST FAEE
16,720,000 *15% 2,508
207 A IHEH] 21,200 21,200
02 JAPHEHH] 21,200 21,200
oD T AZ EHIOIX 2tRE ME 2 A
PIOHE 15,200,000 & * 14! 15,200
oZE T A EHIOIX FID|s W
6,000,000& * 1A 6,000
405 KHaHE S H| 12,420 12,420
01 AL Z2EFSH| 12,420 12,420
ot H SO0l A2 PC 2
1,130, 000& *9CH 10,170
oA, S0IEME 2LIH F¢
250,000 *9CH 2,250
SATAS 2 nA 29 99,800 65,820 33,980
201 LBr2Ab| 6,000 3,000 3,000
01 AFR22teltl 6,000 3,000 3,000
odXt, MAI S EE= ME
750,000 & *43] 3,000
oIz YA ¢ M2
500,000 x63 3,000
301 LEtEXZ 93,800 62,820 30,980
14 J|EI2 A= 93,800 62,820 30,980
oZ23lWA LAIE
50,000& #2 Al 2% 123] x442¢ Xt 52,800
o0l SAHWA ZAIE
50,000& #2 Al 2tx 1000 A *4 3| x9E 36,000




2A:

M DS M

BH: ZRCAP HE U 29
el SYEAS 2 2 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
S=NSO0L2l ZASE
50,0003 *2AI2++5I1* 102 5,000
A2A 29 33,681 32,202 1,479
101 @1A4H| 10,861 10,342 519
04 JIZtNZ22 XS 2+ 10,861 10,342 519
SAIZHH 22IHEA2e]) A2
76,9603 x2& 63! 9,697
cAUEEE 9,697,000& *12% 1,164
201 er23 | 1,220 1,220
01 At2teltl 1,220 1,220
oXN2AM2 Xz B 7=
1,2003+3002 x20H A 720
oXN2ME NRES 250,000 25 500
301 EtE NS 12,600 11,640 960
4 JIEt2 8= 12,600 11,640 960
o2 N2 2L 2Y BASE
50,0003 x2Al 2Hx122] x4 2 Zp+20H A 9,600
o M2l AHIZAH4AIZH0IA)
0,000 1 »150! 3,000
405 AtatE = 9,000 9,000
02 A =ebl 9,000 9,000
o2 A2 TAFY
15,0002 *300 2 x2JH 2= 9,000
SHCANZ 2 2l 132,840 138,172 Ab,332
A % 237 29 2¢ 102,840 107,932 25,092
101 @124H| 11,476 10,928 548
M ORINZZ2NSE S 11,476 10,928 548
oA 22IHEA) IR
9,6203 *4Al 2H151 5,811
o222k &= 484,250« 1 485
SAIZHN 22IHE. 2 £AFe) oY
76,9603 x 18 »52& 4,002
c4EE = 1,178
-AIZER 22X 212
9,813,000& *12% 1,178
201 get=3y| 52,664 59,264 26,600
01 AtR2te|H] 32,264 40,064 A7,800
odJ|IZteiE 2 10,0002 155122 1,800
SU2A=R 12,0003 75+ 128 1,008
cENFHRISE(SIYIE, RFID EHO S)
300,000 *45 1,200
oAt BAES 10,0002 %105 1,000
oY HH 22F(SADI, 22l &Y)
250,000 *45 1,000
oitz B 2= 1,200& +2,0002 2,400
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FA BdUSHEH

Y ZZCNT BE YL 29
ol AT 22 22 (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SORt Qe 2% B8
1,947,950« 123 23,376
SENT 92 X |
8,000 x1&+60! 480
02 s3=gHl 20,400 19,200 1,200
oAHEAZ HIIRS
1,700,000& «12& 20,400
202 04l 1,200 1,200
01 =LHN I 1,200 1,200
oA g =X 20,0003 x 1 »60! 1,200
405 KHoHF S| 37,500 36,540 960
01 ML ESFSHI 7,500 6,540 960
oAIt 7 1,500,000 5% 7,500
02 =A-EHI 30,000 30,000 0
oUEtEA 2¢ 15,0008 %2,000& 30,000
AN Stud 2 30,000 30,240 A240
301 EtE NS 30,000 30,240 A240
14 JIEt2d=3 30,000 30,240 A240
oE3ud 2E SAE
50, 0002 #2A| 2++252 £+ 122 30,000
S0I=M2 2 2 64,254 100,278 A36,024
S0EAM2 EA & 257Y 29 2 40,254 78,678 N38,424
101 212A4H| 6,994 11,038 N4,044
04 JIZtN2 2N S 2+ 6,994 11,038 A4,044
S AR 22XHEA) oY
9,620 #4A 2t 151 5,811
oZ2Z2it ElA =3 484,250 x1H 485
cAUEE = 698
-AIRM A 22XHEA) Ry
5,811,000 *12% 698
201 et 3| 17,060 43,940 A\26,880
01 At22t2l] 6,260 34,340 /28,080
odJ|IZtdE 7Y 8,000 * 165122 1,536
oHZ A= 14,0003 85+ 122 1,344
SARES 7Y 200,000 <42 800
cHAES 7Y 300,000 32 900
otz B 7= 1,200& *1,0002 1,200
oA2 R =N S|
8,0002 x1&+60 480
2 s5=34l 10,800 9,600 1,200
o=0l=AM2 HII23 900,000 * 12 10,800
202 O4H| 1,200 1,200
01 2L A 1,200 1,200
oM FF F& 20,0003 » 18 »60! 1,200
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FA HYUSHE
Y ZTZCAT BE Y 29
=2el S0EA2 2 22 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
405 AHaHE = 15,000 16,200 21,200
02 A+l 15,000 15,000 0
outE A FY 15,000 *1,0002 15,000
S0lcA2 2stud 24 24,000 21,600 2,400
301 EtE2 NS 24,000 21,600 2,400
14 0Bt 2a=S 24,000 21,600 2,400
oEstud 28 MY
50,0002 x2A| 2+x202 £+ 122 24,000
YA ZH(HYLSHE) 150,261 92,828 57,433
el 2| 22,706 21,028 1,678
el 2dd| 22,706 21,028 1,678
101 @124H| 22,706 21,028 1,678
01 &2 22,706 21,028 1,678
oA2RAZRE
11,1302« 172 *10A1 2+ 123 22,706
JlI=23sl 127,555 71,800 55,755
Jl=&H| 127,555 71,800 55,755
201 =3 121,675 66,680 54,99
01 AtR2t2lt] 92,620 36,600 56,020
CARAEZY AR2Z 7Y 5,980
ANRES 20,0003 x205+43] 1,600
“SAEA 7Y 25,0002 x8 Ax 122 2,400
Bl S dMARE 250,000 *6H 1,500
-0 301 20,0003 »2 Ax 122 480
CANEE2E FAES 7Y 11,640
—AIA| 30,0002 %95 +123] 3,240
RSN 50,0002 x9 Ax 122 5,400
-JIet HAEE 50,0002 15543 3,000
oMgD| SEM SF7Y
7003 *15000+ 123 1,260
o=SAD| =2l E =8 wH
400,000 52 2,000
cUYSE MH 2003 7,4000H 1,480
ofgus 7Y 10,0003 *155+23] 300
od=J| gxtg 45,0002 x130H 12 7,020
oHIU Sxt= 30,0002 «13CH*12& 4,680
oBJIEEI| gtz
130,000 *1CH* 12 1,560
oAl HAAFI| Xz
800,000 = 1CH* 122 9,600
ogXsg 60,0003 x 1 »26L 1,500
o RoIZHISH (4MA)
950,000 *4JH 2=+ 123 45,600
02 s3=gHl 29,055 30,080 1,025
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FA: BUWSHE
M HERHIH(HMHWSHEH)
&l D122 (CH9: &S1)
BE - C9l(3) - KIRAY - S Ol &t G o B2
o4t - ot MEZ 450,000& 128 5,400
SN IN]:] 1,000,000 *1CH 1,000
om0 1,9102»1CH*500 £ 955
oCRERS 1,902 +5008 980
o Zst0ll=gl2 Y 3ld ALER
30,000& 23| & x 122 720
o IR 5,000,000& 43| 20,000
203 R =& 5,880 5,120 760
02 BRIAHE R FAIH| 1,080 920 160
o AR ALD|AIE AH| 40,0003 *27'H 1,080
M4 FA2ILHRFAL 4,800 4,200 600
=30¢! 0lat 400,000 x 12 4,800
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